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10.
11.
12.

Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requestedto open
the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ ‘ @

where (C) is the correct response.

(ii)

(iii)

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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SOCIOLOGY

oS
Paper - I

%8 =1l

1. Who among the following introduced the 1.

concept of ‘anticipatory socialization’ ?

(A) W.G. Sumner
(B) George Homans
(C) Talcott Parsons
(D) Robert K. Merton

2. Organic Solidarity is based upon
1. Homogeneity
2. Heterogeneity
3. High Collective Consciousness
4. Low Collective Consciousness
(A) 2and 4

1and 3

2and 3

) 1Tand 4

)
(B)
(C)
(D

3. Karl Marx distinguished five stages in the
dynamics of social change. In what order

did he place the stages ?
1. Feudal

Capitalist

Ancient

Asiatic

o M 0D

Communist
(A) 3,4,1,2and5
(B) 1,8,4,2and5
(C) 4,1,3,2and 5
(D) 4,3,1,2and 5
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4. Who among the following have proposed
theories on the development of self ?

1. Sigmund Freud
2. W. G. Sumner
3. G.H. Mead

4. C.H. Cooley

A) 1,3and 4

B) 1,2,3and4

C) 1,2and 3

(
(
(
(D) 1,2and 4

)
)
)
)

5. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R)

Assertion (A) : The Sarada Act (1929)
relates to restraining
child marriages and

increasing the age of

consent.
Reason (R) : It was applied not just
to Hindu Women, but

to all women, including
Muslims in British India

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

=

4. 52 o0 TOS IS w8, (W) WD
?ozs‘so@’e)éo BHTROTE ?
1. 2ok gronk
2. Coans . S50
3. 2.8 &
4. 2.5, 578
1, 3 500050 4
1,2, 3500 4
1, 2 5050055 3
1, 2 500k 4

5. ots dyd Dot TTE” a5l BIES (A)
BoERd rao) (R)
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(B) ‘A’ 208050 ‘R’ Do 535
(C) ‘A’ &3 52 ‘R’ 5390

(D) ‘A’ 5000k ‘R’ Bokr Say
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6. Place the following books in the sequence

of their publication :

1. Radcliffe-Brown : The Andaman

Islanders
2. Herbert Spencer : Principles of
Psychology
3. Emile Durkheim : Division of Labour
in Society
4. Marxand Engels : Communist
Manifesto
(A) 2,4,1and 3
(B) 4,2,3and 1
(C) 8,2,4and 1
(D) 2,4,3and 1

. Herbert Blumer distinguished between the
following two concepits :
(A) Latent function and Manifest function

(B) Primary Group and Secondary Group

(C) Definitive concepts and Sensitizing
concepts

(D) Interactional concepts and
Integrative concepts

. Given the following data, identify the better
measures of central tendency.
Data:5,9,3,7,10and 99

1. Arithmetic Mean

2. Mode

3. Median

4. Geometric Mean
(A) 1,2,3and 4
(B) 1and 2
(C) 83and 4
(D) 1,2and 4
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C) 3 200aw 4

(
(
(
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9. Given below are two statements, one
labelled as Assertion (A) and the other as

Reason (R)

Assertion (A) : Durkheim holds that as
long as society persists,
so will religion.

Reason (R): He proposes that the

function of religion is the
creation, reinforcement
and maintainance of
social solidarity.

Which of the following is the correct
answer ?

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true, but ‘R’ is
not the correct explanation of ‘A’

(C) ‘Ais true but ‘R’ is false
(D) ‘A’ is false but ‘R’ is true

10. Match List-I with List-1.

List-1 List-1I
. W.G. Sumner 1. Consciousness
of kind

Il. Ferdinand Tonnies 2. Gessellschaft
lll. C.H. Cooley 3.
IV. F.H. Giddings 4.

Ethnocentrism

Looking Glass

Self

I | [ v

(A) 3 2 4 1
(B) 2 3 4 1
(C) 1 2 4 3
(D) 3 2 1 4

=
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11. The pivotal methodology of
functionalists is

(A) Content Analysis
(B) Case Study

(C) Historical Study
(D) Fieldwork

12. Given below are two statements, one
labelled as Assertion (A) and the other as

Reason (R)

Assertion (A) : Positivism holds that
physical science
methods can be used
to explain social
phenomena.

Reason (R): As both physical and

social sciences are
sciences, they follow the
same methods.

Which of the following is the correct
answer ?

(A) Both ‘A’ and ‘R’ are true and ‘R’
is the correct explanation of ‘A’
(B) Both ‘A’ and ‘R’ are true, but ‘R’
is not the correct explanation of ‘A’
(C) ‘A’is true but ‘R’ is false
(D) ‘A’ is false but ‘R’ is true
13. Malinowski is popular for
1. Functionalism

2. Participant Observation

3. Evolutionism
4. Fieldwork
(A) 1,3and 4
(B) 1,2and 3
(C) 1,2,3and 4
(D) 1,2and 4

Il =
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14. Match List-| with List-I1.

List -1 List—1I
I. Westernization 1. R.K. Merton
Il. Universalization 2. M.N. Srinivas

Il Great Tradition 3. Mckim Marriot

4. Talcott Parsons

5. Robert Redfield

IV. Universalism

I nm v
A 3 1 2 4
B 2 3 5 4
C 2 4 5 3
D) 4 3 2 A

15. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R)

Assertion (A) : The mean of a population
is known as a statistic.

Reason (R) :It can be statistically
estimated with the help of
a sample.

Which of the following is the correct

answer ?

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true, but ‘R’ is
not the correct explanation of ‘A’

(C) ‘Ais true but ‘R’ is false
(D) ‘A’ is false but ‘R’ is true

=
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16. Identify the sequence of the main
objectives of the I, II, Il and IV" Five Year
Plans in that order :

1. Agricultural Development
2. Growth with Stabilization

3. Self-reliant and Self-generating
economy

4. Industrialization
(A) 1,3,2and 4
(B) 4,3,1and2
(C) 2,3,1and 4

(D) 1,4,3and 2
17. Match List-I with List-II.

List—1 List—1I
l. Subaltern Approach 1. D. P. Mukherjee

Il. Marxist Approach 2. Mckim Marriot

lll. Indological
Approach 3. G. Myrdal
IV. Structural Functional 4. Radhakamal
Approach Mukherjee
5. B.R. Ambedkar
I nm i
(A) 1 3 4 2
B 5 1 4 2
)5 1 2 4
D) 2 1 5 4

Il =
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18. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R)

Assertion (A): Weber distinguishes
three basic types of
authority.

Reason (R): His classification of

authority is based on his
four types of social
action.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

19. The Freudian term ‘Super-Ego’
corresponds to G.H. Mead'’s

(A) 1

(B) W

© Slgmflcant Others

(

D) Generalized Others

20. Based on the following statements, which
code is correct ?

I. An observation uninfluenced by our
personal bias is said to be objective

IIl. An observation influenced only by
our values is said to be objective

lll. An observation uninfluenced by our

interests is said to be objective
A) land Il are correct but lll is wrong
B) Il and Ill are correct but | is wrong
C) land Il are wrong but Il is correct
D) land Il are correct but Il is wrong

(
(
(
(

=
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21. What is the chronological order in which
the following perspectives appeared

1. Conflict Perspective

2. Evolutionary Perspective
3. Diffusionist Perspective
4. Functional Perspective
(A) 2,3,1and 4
(B) 3,2,4and 1
(C) 2,3,4and 1
(D) 2,1,3and 4

22. Match List-I with List-I|

List—1 List-II
l. Chi-Square 1. Value of the
middle item
IIl. Mean 2. Most repeated
value
lll. Mode 3. A measure to test
a hypothesis
IV. Median 4. Sum of the values
divided by the
Number of values
I nm 1w
A 3 4 2 1
B 1 4 2 3
Cc) 1 2 3 4
D) 3 4 1 2

21. 54800 SYET0 O 008" 00N’ STman ?

1. QOLETTCS CHZE0
2. BOETHITE S0
3. DTS GyEo
4. S CE)Eo

(A) 2, 3, 1 508050 4

(B) 3, 2, 4 506050 1

(C) 2, 3, 4 50805 1

(D) 2, 1, 3 558050 4
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23. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R)

Assertion (A): Davis and Moore state
that social stratification is
present in every society

Reason (R) : They argued that all

societies need some
mechanism for ensuring
effective role allocation

and performance.

Which of the following is the correct

answer ?

(A) Both ‘A’ and ‘R’ are true and ‘R’ is

the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true, but ‘R’ is

not the correct explanation of ‘A’

(C) ‘A is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

24. The conflict theory of Dahrendorf is based

exclusively on the :

(A) Property relations

(B) Relations of authority

(C) Humanistic traditions

(D) Internal social conflicts
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25. If the values of a variable are multiplied | 25 . 53555239 &S/;{)ogf_)éés 10e3%, 5+ BB T3S D6
by a given number, which of the following
(e ¢ ?
will not be affected ?
1. Mean 1. @oméézéoo
2. Median 2. Jo¢3neo
3. Coefficient of variation 3. Sfaddomoe] e D8NS
4. R
ange 4. Bof
(A) 2,3and 4
(A) 2, 3 500050 4
(B) 3
B) 3
(C) 1,2and 3 B)
(D) 2and 3 (C) 1,2 508050 3
(D) 2 2080 3
26. Match List — | with List - II.
List-l List-ll 26. 5035- 125635 - 1| § es8350550G.
I. Economy 1. Adaptation S S|
Il. Polity 2. Latency l. 0K 9508 1. e90d8es
lll. Family 3. Goal Il. oresda 9593 2. (35T Aged
Attainment M. Senoo 3. @g?@%;sas
IV. Religion 4. Integration IV. 080 4. 055
I mmov I n m 1
A 2 4 1 3 A) 2 4 1 3
(B) 3 2 4 B 3 1 2 4
©) 3 2 4 © 1 3 2 4
D) 4 3 2 1
D) D) 4 3 2 1




27. Given below are two statements, one

labelled as Assertion (A) and the other
as Reason (R)

Assertion (A): Durkheim states that
sociology is a science
of social facts.

Reason (R) : He proposes that social
facts are internal to all
individuals in society.

Which of the following is the correct
answer ?
(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

28. Which of the following is based on
endogamy ?

1. Gotra

2. Caste

3. Class

4. Sub-caste
(A) 1and 2
(B) 2and 3
(C) 2and 4
(D) 1and 4

29. Malinowski’s functionalism is often
termed as

(A) Cultural functionalism
(B) Individualistic functionalism
(C) Social functionalism
(D)

D) Integrative functionalism
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1. &go
2. o0
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A) 1508050 2
B) 2 208ayw 3
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D) 1 508axw 4
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30. Match List — | with List —II.

List-l List-ll
I. G. Simmel 1. The functions
of social conflict
Il. Dahrendorf 2. Conflict sociology
lll. Coser 3. Class and class
conflict in
industrial society
IV. Collins 4. Conflict and the
web of group
affiliations
| nm 1
(A) 2 4 1 3
(B) 4 1 2 3
C) 4 3 1 2
(D) 3 4 2 1

31. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : In experimental designs,
both experimental and
control groups are used

Reason (R): The group exposed to
the independent variable
being tested is called

control group.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

Il =
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32. Cultural lag implies that

(A) Non-material culture changes faster
than material culture

(B) Material cultural changes faster than
non-material culture

(C) The culture of one society is more
developed than another society

(D) The cultures develop after societies
develop

33. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R)

Assertion (A) : Gessellschaft refers

to a society based on
contractual relationships.

Reason (R) : Gessellschaft is mainly
characterized by primary
relations.

Which of the following is the correct

answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong
34. Which of the following can be used for

measuring the relationship between two
binary variables ?

1. Chi-Square Test
2. Yule’'s Q

3. Correlation

4. Phi-Coefficient
A) 2,3and 4

B) 1,2and 4

C) 1,2and 3

(
(
(
(D) 1,3and 4

)
)
)
)
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VAR R
35. Match List — | with List - II.

List-l List-ll
l. Second Estate 1. Clergy
Il. Fourth Estate 2. Nobility

lll. First Estate 3. Commoners
IV. Third Estate 4. The Press
I nm 1w
A 2 4 3 1
B 1 4 3 2
C 3 4 2 1
D) 2 4 1 3

36. Who among the following was the first to
use the term ‘Reference Group’ ?

(A) Robert Merton

(B) H. Hyman

(C) Theodore Newcomb
(D) Talcott Parsons

37. The word ‘Sociology’ is derived from
languages.

1. Greek

2. English
3. Spanish
4. Latin

A) 1and 2
B) 2and 3
C) 1tand4

(
(
(
(D) 3and 4

35. 0635— 12 0¢85 1 & essissisod.

By —1 ESER ||
. 25306 J3e5 1. S0z 08000
Il 96 %e5 2. Beo5ye
. 5% %5 3. JrEorge0
IV. 8 d%e5 4. PH3aoes
I nm v
A 2 4 3 1
B 1 4 3 2
C 3 4 2 1
Oy 2 4 1 3

36. o0 TBSE” I5H Boocsed ‘BT, BRI’ e5id)
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38. Match List — | with List —II.

List-I List-Il
|. Leisure class 1. Gaetano Mosca
[l. Class Consciousness 2. Thorstein Veblen
[ll. Ruling Class 3. Max Weber
IV. Collective Consciousness 4. Karl Marx
5. Emile Durkheim
| nm m 1
(A 2 4 5 3
B) 2 3 5 1
(C) 4 3 2 1
(D) 2 4 1 5

39. The mean age of 30 students in a class is
16. If the teacher’s age is included, the
mean increases by 1, what is the teacher’s
age ?

(A) 27 years
(B) 46 years
(C) 47 years
(D) 57 years

40. Given below are two statements, one

labelled as Assertion (A) and the other as
Reason (R)

Assertion (A): The mean square
deviation of a continuous
variable is called standard
deviation.

Variance is the positive
square root of the sum of
the squared deviations.
Which of the following is the correct
answer ?

(A) ‘A’is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’ is wrong, but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

Reason (R) :

Il = 18
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41.

42.

43.

Il =

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R)
Assertion (A): Karl Marx used the term
alienation as a tool for
sociological inquiry.
He was influenced by
Hegel who had already
used the term in his
analysis of dialectics.
Which of the following is the correct
answer ?

Reason (R) :

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

Match List — | with List — Il the following.

List-l List-ll
Vilfredo Pareto 1. Verstehen
Approach
. Max Weber 2. Sui generis
. Talcott Parsons 3. Circulation of
Elites
Emile Durkheim 4. Pattern Variables
| nmm 1w
(A) 4 3 1 2
B) 3 1 4 2
< 1 3 2 4
(D) 2 4 A1 3

When we try to calculate the mean of a
population on the basis of a sample, it is
called :

(A) Descriptive Statistics
(B) Bivariate Statistics
(C) Inferential Statistics
(D) Explorative Statistics
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44,

45.

=

Place the following books in the sequence
in which they appeared

1. The Structure of Social Action
2. The Functions of Social Conflict
3. Social Theory and Social Structure
4. The Power Elite
(A) 1,4,2and 3
(B) 1,2,3and 4
(C) 1,4,3and 2
(D) 1,3,2and4
Given below are two statements, one

labelled as Assertion (A) and the other as
Reason (R)

Assertion (A) : The concept of latent
function was proposed
by R.K. Merton

Reason (R):  He calls those functions
that are not recognized
or anticipated by
Sociologists as latent
functions.

Which of the following is the correct

answer?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong
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Read the passage given below and
answer the questions that follow based on
the passage :

Modernization follows a succession of
‘evolutionary universals’ which are defined as
“any organizational development sufficiently
important to further evolution that rather than
emerging only once, is likely to be ‘hit upon’ by
various systems operating under different
conditions”. In the social realm, the sequence
of its evolution is set by four pre-requisite
universals; these are: communication with
language, religion, social organization with
kinship and technology. These integrated
together constitute a set for elemental
social organization. On this foundation,
universals like ‘stratification’, ‘cultural
legitimation’, ‘bureaucratic organization’,
‘money and the market complex’, generalized
universalistic norms, and finally, the democratic
associations develop in a sequential order. Of
these, the last four constitute the structural,
normative conditions of a modern society.

Structural breakdown in modernization
emerges, due to historical or other cultural
factors, the sequence of evolution is reversed
or made uneven or when some of the
universals become far too rigid and offer more
than normal resistance to the further evolution.
Such conditions prevail in the Asian Nations.
Such nations, being ex-colonies, have many
evolutionary structures like bureaucracy,
democratic associations and generalized
universalistic norms introduced into their social
structure without adequate development of
other basic founding universals like
communication, technology, stratification and
principles of legitimation. Many Asian, African,
Latin American and Middle East countries are
characterized by a higher development of
bureaucracy and generalized universalistic
norms but very poor growth in the spheres of
communication, kinship, technology, social
stratification and money and market complex.
Thus, value support to many modermn institutions
is lacking, and the whole transfer of many
institutions from the West renders the lag more
acute.
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46. The universals essential for modernization
to follow include

1. Money-Market Complex

2. Communication with Language
3. Power Structures

4. Social Organization with Kinship
1and?2

1,2and 4

1,2,3and 4

47. Which of the following constitute the
structural normative conditions of a
modern society ?

1. Generalized Universalistic Norms
2. Social Organization
3. Democratic Associations
4. Communication
(A) 1and 2
(B) 2and 3
(C) 1and 3
(D) 1,2and 4
48. Modernization is hindered when
1. Colonies oppose colonization
2. Sequence of evolution is uneven
3. Resistance to modern institutions is
high
4. Countries are not colonized
Choose the right code.
(A) 1and 2
(B) 2and 3
(C) 3and 4
(D) 1,2,3and 4
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49. What is lacking in Asian Countries?

50. Which of the following statements are

Il =

1. Development of bureaucracy

2. Generalized universalistic norms

3. Communication and Technology

4. Stratification
(A) 1and 2

(B) 2 and 3

(C) 2 and 4

(D) 3and 4

c

orrect as per the passage ?

. The concept of lag means that the
colonies are lagging behind the
western societies which are more

modernized.

. Transfer of modern institutions
without value support to them
creates a hindrance to

modernization.
(A) lis correct, but Il is wrong
(B) Both Il and Il are correct
(C) lis wrong, but Il is correct

(D) Both I and Il are wrong
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Space for Rough Work



